








































































Wednesday Sept 14 Fall 22
Lecture 7

AnnouncementsIReminders
WP HW 2 due today 1.2 1.3 11 59pm
Q2 tomorrow all 12,13,14 suggHW as of today
El two weeks from today 9 28

Section 1.4 Logarithmic Functions

log 5 the that if you do
2 to the power of it you
get 5

22 4 29057 5 23 8

x 2.32

Propertesoflogs for any base a

1 loyalty loga logaly
multiplication inside turns into addition

outside











































































Why 2 8 2 29

Do a to the power of each side

Hoga toy alogacatlogaly

x y lat alga ly

x y x y

Not true 6Zlgafg.lyty

2 toga y log x log Cy

Division inside turns into subtraction
outside

Ed log E log 5 log 7

log 0.7 log 5 log 7

3 FCK y logalx log 57 2.32

EI log 25 log2152 2 log 5











































































I 2 2.32 4.64

log 577 12.327 not the same

thing
actin at

Y log at x s algal x

M at
same a same a

These are because log is the inverse
of exponential

Groupthink

Simplify LAB together
HogCATttogeBTGogeatlogittlate
LA log B zloglatlog c 2

log A log B log C 2 U

log ABC 2 end n

I











































































2x x x
to
2 204

shape.in 1
ny x 20 1

at a I

logalt a I

the domain of

logacxf

co o

the range of

log x

logo is undefined f as as

24 0 not possible

at Ocad logalx O call

a ite











































































Ex Suppose the pop of Burkina Faso
is modeled by the function

P 14.235 1.029
t

where tis the of years after 2007
and PCA is in millions

When did the population reach 20 million

We want to solve 20 14.235 1.0297

14 35
1029

t

log org 17235 loyalty
t

11.894

2007 11 12 years 201820190
Exercises video has a ton of examples

et l


